


Keaapar Cymmer

(a + b)? = a® + 2ab +b?

(a+b)’=(@+b)(a+b)=
=a*a + a*b + b*a + b*l
=a’+ab+ba+
=az+

1paTOB YS1eHOB

a U YABOEHHOr o

DOU3BEeHUA YeHOB
AByuYSeHa
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PasHocTb kKBaapaToe

a’-b?=(a+Db)(a-hb)

(a+b)(a-b)=
=a’-ab+ba-tL

3TUX Yncen
BBIPAXEHUW) Ha UX
PasHOCTb



PasHocTb Kybos

a>— b’ =(a-b) (a?+ ab + b?)

: yx

HUW) paBHa

U0 pasHOCTU

jucen (BbIpaxeHUI)

a0 HEeMOJHLIW KBAAPAT UX
CYMMbI

(a-b) (a® + ab + b?)=

= a*a? + a*ab + a*b?% b*a?- b*ab
- b*b?=

=a®+ a%b + ab?- a%b -

= 8.




Cymma Kybos

a>+ b= (a+b) (a2 -

(a + b) (a% - ab + b?)=
= a*a? - a*ab + a*b?+ b*a?- b*ab
+ b*b2=
=a’-a’b+ab’+a’b-¢ NEeHUHO CYMMbI
P incen (BbIpaxxeHW)
a0 HEeMOJHLIW KBAAPAT UX

pasHoCTU



Ky6 cymmer

(a + b)® = a* + 3a%b + 3ab? + b’




Ky6 pasHoCTU

(a - b)® = a’ - 3a’b + 3ab? - b’

Ky6 pasHOoCTU ABYX Be
MWHYC YTPOCHHC

BTOPOU MUHYC



